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#include <stdio.h>
#include <unistd.h=>

int main()
{

int 1i;

for (i = 0; i < 4; i++)
fork();

return O;
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#include <sys/types.h>
#include <stdio.h=>
#include <unistd.h=>

int main()

{

pid_t pid, pidil;

/* fork a child process */
pid = fork();

if (pid < 0) { /* error occurred */
fprintf (stderr, "Fork Failed");
return 1;

}

else if (pid == 0) { /* child process */
pidl = getpid();
printf ("child: pid = %d",pid); /* A */
printf("child: pidl = jd",pidl); /* B */

}

else { /* parent process */
pidl = getpid();
printf ("parent: pid = jd",pid); /* C */
printf ("parent: pidl = %d",pidl); /* D */
wait (NULL) ;

}

return 0O;
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#include <sys/types.h>
#include <stdio.h=>
#include <unistd.h=>

#define SIZE 5
int nums[SIZE] = {0,1,2,3,4};

int main()

{
int i;
pid_t pid;

pid = fork(Q);

if (pid == 0) {
for (i = 0; i < SIZE; i++) {
nums [1] *= -i;
printf ("CHILD: %d ",nums[i]); /% LINE X x/
}
}

else if (pid > 0) {
wait (NULL) ;
for (i = 0; 1 < SIZE; i++)
printf ("PARENT: %d ",nums[i]); /* LINE Y %/
}

return O;
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int main(void) {
printf("before execl ...\n");
execl("/bin/Is", "/bin/Is", NULL);
printf("after execl ...\n");  /*LINE: Y*/

return O;



